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Short Questions

1. What is the difference between flow control and congestion control for TCP?

Ans: Flow control: Sender does not overload receiver


  Congestion control: Sender does not overload network in general

2. What does cumulative ACK mean? Give an example.

Ans: TCP only acknowledges bytes up to the first missing byte in the stream. 

Suppose that sender sends two segments over to the receiver, receiver sends two ACKs back, the first ACK is lost over the network, the second ACK is received by the sender. There is no need to resend the first packet because the second ACK indicates that the first segment is successfully received.

3. Explain the difference between connection-oriented demux and connectionless demultiplex. Draw a graph if it helps.

Ans: demultiplex refers to deliver received segment to correct socket. Connectionless demultiplex is used by UDP, whose socket is identified by two-tuple (dest IP and dest port number). Connection-oriented demultiplex is used by TCP, whose socket is identified by four-tuples(source IP, source port number, dest IP and dest port number).

4. In distance vector, what does ‘count to infinity’ mean? How to avoid or prevent it from happening? What is the solution’s limitation?

Ans: In a network, distance vector is the routing algorithm. If one link cost increase significantly, it will take many rounds for the network to come to correct routing table(the difference of the link cost). 

To avoid this problem, we can assign infinity to some link cost to infinity which we know it is not taken for sure.

If one node has more than two immediately neighboring nodes, this method does not work.

Long Question

1. Parity Check such as following table
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a. there is one error in the table, which one is it?

Ans: the correct one should be
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b. Prove this method can detect any single bit error

Ans: Omit.

c. Prove that not all two-bit error can be detected and corrected by this method.

Ans: Omit.

d. Give an example that this method fails to detect two-bit error.

Ans: the following two tables give exactly same parity bit
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